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Choosing the Rule

The side lengths and perimeters of some regular polygons are shown in the table below.
Which expression can be used to find the perimeter of a similar polygon with-a. S;w@l]j/d n
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The table below shows about how many people live in an area of square miles.
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Which expression can be used to find the number of people that would occupy an area of n

square miles?
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B. n+80 D. n-+948

Which equation can be used to the find the number of ounces, y, in x cups?
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Building the Table
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How many blocks would be needed if there were 11 blocksin the chimney? q7
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If 26 blocks were used, how many blocks are in the chimney? |
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If the rule for the pattern is 2(x) +1, how many biocks will be in the figure on the 25" day?
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Write a process table for the following expressions.
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Which expression can be used to find the n™ term in this sequence? Build a process table.

What is the sequence represented by this situation? 5 , }h , { ( f _,,-)
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The sequence is goEng up / down by . That is the number if front of the n.
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Which equation best represents the relationship between x and y in the table below? %
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Which equation best represents the relationship between x and y in the table below?
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If the pattern continues, how many blocks will be in the figure on day 257 Hint: Build a table.
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